※Single Choice (1~15, 5% each) (每題恰有一解,答對得5分,答錯或不答得0分)
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	Find the domain of the function 
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	Find the range of the function 
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	Find the limit, 
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Select the correct answer. 
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Select the correct answer. 
(A) 
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Select the correct answer.
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	Let
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Select the correct answer.
(A) 
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Select the correct answer.
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Select the correct answer.

(A)  
[image: image42.wmf]1
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	If 
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Select the correct answer.
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Select the correct answer.
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[image: image55.wmf]x

x

sin

  (D) 
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	Find 
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Select the correct answer.
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	Find 
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Select the correct answer.
(A) 
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	Find 
[image: image67.wmf]?

 

sin

  

2

 

0

  

=

ò

p

dx

x


Select the correct answer.
(A)  
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Select the correct answer.
(A)  
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Select the correct answer.

(A)  
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※Multiple Choice(16~20, 5% each)(每題至少有二正確選項,完全答對得5分,其餘情形得0分)
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	It is known that 
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ANSWER
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